Maths Challenge 15.10
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Find the answers below
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0 Calculate 649 — 278
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e Arrange the digit cards to make a H-digit

number fo complete the number sentence.
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How many different
ways can you arrange the
digits fo complete
the sentence?
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° There are 5,677 people in a village.

1,952 are women, 2,803 are men and the
rest are children.

Complete the bar model to represent this.

How many children are there?
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o Ron and Dora have fl between them.
Ron has 26p more than Dora.

How much do they each have?
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619 + 224 = 620 +

2379 + 442 = 3,379 + -
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There are 922 children.

Ron has 63p
Dora has 37p

813 + 496 = 496 + 8I3
619 + 224 = 620 + 223
2,379 + 4HI12 = 3,379 + 3412

1,746

1,764




